Unit 5 —

Partner A:

Mathematician —

Partner B:

Scribe Partner Activity

Per:

Find the discriminant for the equation below. T-h.en,

state how many and what type of solutions the

equation will have. :
0=5x%+ 20x+3
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Find the discriminant for the equation below. Then,
state how many and what type of solutions the
equation will have,
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Will the graph pictured have a pgsitive, negative, or
zero discriminant? Explain your answer.
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Will the graph pictured have a positive, negative, or
zero discriminant? Explain your answer,
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An equation hasone real solution. Will the

discriminant of the equation be positive, negative, or
zero? Explain your answer.

“# 2\ 0
| real

An equation has solutions at 3 and 7. Will the
discriminant of the equation be positive, negative, or
zero? Explain your answer.
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MName Period

5.3B  Number and Type of Solutions: Part I1 ‘

L. y=x-2x-8

~ a) What is the discriminant?

“Sh) Number of solutions?
N ¢) Type of solutions?

~ d) What are the zeros (roots)? x= - z

“Factor or use the graph 23—
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a) What is the discriminant?

b) Number of solutions?

¢) Type of solutions?

d) What are the zeros (roots)?
*Factor or use the graph

€) Graph the equation.

e) Graph eequatiun.{
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f) What is the vertex? ( | y = (7)

g) Is the vertex a minimum or maximum?

h) Whatis the y —i(nercept?

D, = 8)
i) What is the dumT?R

J) What is the range?
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f) What 1s the vertex?

g) Is the vertex a minimum or maximum?

h) What is the y -intercept?

i) What 1s the domain?

j) What is the range?



Simplify the following square roots - l - 5 8
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